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MODEL ACTIVITY TASK
ENGLISH

CLASS VI
ACTIVITY 1

Rewrite the following sentences using the Past tense of the underlined verbs. One is done for you:
e  The office celebrates its third birth anniversary.
Ans. The office celebrated its third birth anniversary.
1)  The lady extinguishes the candle before she goes to sleep.

Ans.

i1) The truck collides with a bus on the highway.

Ans.

1i1) Students gather in the auditorium for they want to show respect to the new teacher.

Ans.

ACTIVITY 2

Find out the most suitable words for the following expressions from the list and write them in the space

provided :

1)  Assembled spectators or listeners at a public event : a

1) Something that deceives by false impression : 1

i) A man’s dinner jacket :t

List : illusion, tuxedo, audience

ACTIVITY 3

Make sentences with the following word clusters :

1)  butnever thought :

i1) saw aman :
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